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Directions: There are 4 reading passages in this part. Each
passage is followed by some questions or unfin-
ished statements. For each of them there are four
choices marked A, B,C and D. You should decide
on the best choice and mark the corresponding letter
on the Answer Sheet with a single line through the
centre.

Questions 21 to 25 are based on the following passage:

Paul Straussmann, retired vice president of Xerox, indi-
cates in his book Information Pay-off that “almost half of the
US information workers are. .. in executive, managerical, ad-
ministrative and professional positions”. He further states that
“managers and frotessionals spend more than half of their time
in communicating with each other”.

In other words,people are a corporation’s most expensive

resource. For a typical office,over 90% of the operating budget
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% is for salaries, benefits and overhead. With the investment,is it
2 any wonder that managers are focusing more and more atten-
, tion on employee productivity? They realize that the paper

jungle cannot be tamed simply by hiring more people. To re-

“ ceive a return on their investment, wise corporate executive of-
& ficers are recognizing what industrialists and agriculturists
' learned long ago—efficient tools are essential for increased
:: productivity.

A direct relationship exists between efficient flow of in-
formation and the quality and speed of the output of the end
product. For those companies using technology, the per docu-
ment cost of information processing is only a fraction of what
it was a few years ago. The decreasing cost of computers and
peripherals(equipment tied to the computer) will continue to
make technology a cost-effective tool in the future. An example
of this type of savings is illustrated in the case of the Western
Division of General Telephone and Electronics Company
(GTE). By making a one-time investment of § 10 million to
automate its facilities,management estimates an annual saving
of § 8.5 million for the company. This saving is realized main-
ly through the elimination of support people once needed for
proposal projects. Through a telecommunications network that
supports 150 computer terminals with good graphics capabili-
ties, the engineers who conceptualize the projects are now di-

rect participants. They use the graphics capacities of the com-

puter rather than rely on drafters to prepare drawings,they en-

ter their own text rather than employ typists,and they use the

network to track project progress rather than conduct
meetings.

21. In the first paragraph, the author quotes Straussmann’s
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words in order to make clear
A. the importance of communicative capacity in business
B. the need for people of higher positions in a company
C. the importance of assigning people to proper positions
D. the necessity for people in higher positions to know information
science
22. Today’s corporate executive officers resemble the indus-
trialists and agriculturists in the past in their realization of
A. the important roles of the workers in turning out more products
B. the importance of information to a company’s development
C. the importance of technology leading to high employee productivity
D. the necessity of providing employees with a comfortable environ-
ment
23. Which of the following might be the result the use of effi-
cient technology in corporation?
A. The quantity of products will be considerably increased.
B. The cost of computers will be decreased.
C. The per document cost of computers will be decreased.
D. The newecst information will be easier to obtain.
24. The GTE’s example shows that
A. efficient technology is cost-effective
B. many meetings in a company are unnecessary
C. many positions like that of a typist can be done away with
D. it doesn’t cost much to automate the facilities of a company
25. The word “tamed”(Sent. 4,Para. 2) may mean -
A. cultivated B. obedient C. done D. controlled
Questions 26 to 30 are baesd on the following passage:
From the moment of that great event the male population
of the Greek world flocked every fourth year, in the late sum-
mer, t0o Olympia in the Northwest of the Peloponnesus.

There, the sight of the youthful, pliant bodies of athletes,
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seen in the most graceful exercises and poses, caused the rapid
development of sculpture. Dorian centers of this art were crea-
ted in the not distant cities of Argos and Siayon, hence, as
well as from certain islands, went out figures, the earliest of
which are classed under the one title of “Apollo types”; the
God of light (intellect) and of music (rhythm—that is, law
and order) being the patron of the Dorian race.

Simultaneously on the shores of Asia Minor, on many
islands of the Aegean, and on the mainland of Greece, another
wholly different figure was developing. This was the female
draped type, not, like the athlete, original with the Greeks,
but showing resemblance to the cult statues of early Eastern
peoples. In this creation, necessarily, the energy of the sculp-
tor was concentrated upon the face and the drapery; the whole
evidencing much more plainly than the Apollo type; the evolu-
tion of the statue from the rudely carved tree trunk, which had
served as an object of worship for earlier generations. The
difference separating the two figures is a significant one and is
paralleled by the other contributions of the Dorians and the lo-
nians to the arts in which the Hellenic Greeks excelled.
26. The “great event”(Sent. 1, Para. 1) refers to

A. the Marathons B. the Olympics

C. the war with Sparta D. the Peloponnesian Festival

27. The development of Dorian sculpture was most influenced

by
A. youthful men B. graceful exercises and poses
C. the bodies of athletes D. Dorian centers of art

28. Why were the sculptures made in Dorian cities called
“Apollo types”?

A. Because Apollo was the patron of the Dorians.
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B. Because Apollo was the God of light.

C. Becausc Apollo was the God of music.

D). Because Apollo was originally from a Dorian city.
29. The female draped type sculpture was

A. an original Greek type of sculpture

B. created single handed by the people in Asia Minor

C. more like the statues of the East than Greek

D. used as an object of worship in earlier generations

30. The word “simultaneously” ( Sent. 1, Para. 2) may mean

A. suddenly B. gradually

C. at the same time D. later
Questions 31 to 35 are based on the following passage:

Opinion polls are now beginning to show an unwilling
general agreement that, whoever is to blame and whatever
happens from now on, high unemployment is probably here to
stay. This means we shall have to find ways of sharing the
available employment more widely.

But we need to go further. We must ask some fundamen-
tal questions about the future of work. Should we continue to
treat employment as the norm? Should we not rather encour-
age many other ways for self-respecting people to rather than
for an employer? Should we not aim to revive the household
and the neighbourhood, as well as the factory and the offices,
as centres of production and work?

The industrial age has been the only period of human his-
tory in which most people’s work has taken the form of jobs.

The industrial age may now be coming to an end, and some of

the changes in work patterns which it brought may have 1o be
reversed. This seems a discouraging thought. But, in fact, it

could offer the prospect of a better future for work, Universal
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employment, as its history shows, has not meant economic
freedom,

Employment became widespread when the enclosures of
the 17th and 18th centuries made many people dependent on
paid work by depriving them of the use of the land, and thus
of the means to provide a living for themselves. Then the fac-
tory system destroyed the cottage industries and removed work
from people’s homes. Later, as transport improved, first by
rail and then by road, people travelled longer distances to their

places of employment until, eventually, many people’s work

lost all connection with their home lives and the places in

which they lived.

Meanwhile, employment put women at a disadvantage. It
became customary for the husband to go out to paid employ-
ment, leaving the unpaid work of the home and family to his
wife.

All this may now have to change. The time has certainly
come to switch some effort and resources away from the im-
practical goal of creating jobs for all, to the urgent practical
task of helping many people to manage without full-time jobs.
31. What idea did the author derive from the recent opinion

polls?

A. New jobs must be created in order to rectify high unemployment

figures. -

B. Available employment should be restricted to a small percentage of

the popalation.

C. Jobs available must be distributed among more people.

D. The present high unemploymenr figures are a fact of life.

32. The passage suggests that we should now re-examine our

thinking about work and
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A. be prepared to admit that being employed is not the only kind of
work
B. be prepared to fill in time by taking up housework
C. create more factories in order to increase our productivity
DD, set up smaller private enterprises so that we in turn can employ
others
33. The passage tells us that the arrival of the industrial age
meant that
A. patterns of work were fundamentally changed
B. to survive, everyone had to find a job
C. economic freedom came within everyone’s reach
D. universal employment guaranteed prosperity
34. As aresult of the enclosures of the 17th and 18th centuries

A. people were badly paid for the work they managed to find

B. people were not adequately compensated for the loss of their land

C. people were no longer legally entitled to their own land

D. people were forced to look elsewhere for means of supporting
35. It can be inferred from the passage that

A. we should help people to get full-tine jobs

B. the creations of jobs for all is an impossibility

C. people should start to support themselves by learning a practical

skill

D. we must take every effort to solve the problem of unemployment
Questions 36 to 40 are based on the following passage:

The nobler and more excellent a thing is, later and slower
it is in becoming mature. A man reaches the mature stage of
his reasoning powers and mental faculties hardly before the age
of 28; a woman at 18. And then, too, in the case of woman,
it is only reason of a sort—very mean in its dimensions. That
1s why woman remain children their whole life long; never see-

ing anything but what is quite close to them, sticking fast to
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the present moment, taking appearance for reality, and prefer-
ring trifles to matters of the first importance. For it is by vir-
tue of his reasoning faculty that man does not live in the pres-
ent only, like the brute, but looks about him and considers the
past and the future; and this is the origin of prudence, as well
as of that care and anxiety which so many people exhibit. Both
the advantages and the disadvantages which this involves are
shared in by the woman to a smaller extent because of her
weaker power of reasoning. She may, in fact, be described as
intellectually shortsighted, because, while she has an immedi-
ate understanding of what lies quite close to her, her field of
vision is narrow and does not reach to what is remote; so that
things which are absent, or past, or to come, have much less
effect upon women than upon men. This is the reason why
women are more inclined to be extravagant and sometimes car-
ry their desire to a length that borders upon madness. In their
hearts, women think it is men’s business to earn money and
theirs to spend it—if possible during their husband’s life, but,
at any rate, after his death. The very fact that their husband
hands them over his earnings for purposes of housekeeping,
strengthens them in this belief,

However many disadvantages all this may involve, there
is at least this to be said in its favor; that the woman lives
more in the present than the man, and that, if the present is at
all tolerable, she enjoys it more eagerly. The source of that
cheerfulness which is peculiar to women, fitting her to amuse
man in his house of recreation, and, in case of need, to com-
fort him when he is borne down by the weight of his cares,
36. According to the passage, the major difference between a

man’s and a woman’s intellect 1s that
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A. men mature much later than women
B. men have a broader view of things
C. women are more cheerful than men
D). man’s intellect is nobler than that of woman
. The cause of women’s cheerfulness is that
A. men do not challenge their intellect
B. they are not responsible by their very nature
C. they live more in the present
. they reach mature stage too fast
. According to the passage, what is the origin of man’s
prudence?
A. They live more in the past.
B. They live more in the present,
C.. They live more in the future.
D. They live at all times.
. According to the passage, “this belief” in the last sentence
in the first paragraph refers to
A. man’s intellect is nobler than that of woman
B. men earn money and women spend it
C. women’s duty is to comfort their husbands
D. women are inclined to be extravagent
. The author’s attitude toward women can best be described
as that of

A. contempt B. sympathy C. mercy D. worry

Di

rections; There are 30 incomplete sentences in this part. For
each sentence there are four choices marked A,B,C
and D. Choose the ONE that best completes the sen-
tence. Then mark the corresponding letter on the

Answer Sheet with a single line through the centre.
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. At the  of each theatrical production, the cast
customarily reappears before the audience to take a bow.
A. conclusion B. rcpetition C. act D. intermission

. The problem of bringing a space-ship back from

the moon has been solved.

A. technical B. technological C. technology D. technique
. Fortified medieval towns were often by two wa-
ter moats.
A. protected B. surrounded  C. {looded D. supplied
If the scheme is carried out without waste of time

or energy, 1 shall be completely satisfied.
A. relatively B. noticeably C. appropriately D. efficiently
. Such essentially "different stimuli as cold, drugs, and

can provoke identical chemical reactions in the

body.
A. illness B. weather C. grief D. travel

.. It was reported that the concerning the accident
would be handled by the chief of police.
A. recording B. gossip C. exploration  D. inquiry

. Georgia O’ Keeffe’ s best-known paintings are those in
which she flowers or animal skulls to fill the pic-
ture,

A. magnified B. dissected C. duplicated D. glorified

. It is not profitable to provide bus service in districts where
the population is widely ;

A. divided B. separated C. spaced D. scattered

. Microfilm can hold a large of information in a
very small storage space because the image is stored in re-
duced form.

A. packet B. book C. amount D. cycle

. The oxygen equipment made it possible for the climbers to
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rest and s
A. latitude

. The state
Territory.
A. probably

C. recently

leep at very high
B. altitude
of Washington was

Tost 1

C. level

B. formerly

D. hemisphere
part of the Oregon

D. for a short time

. At first she thought he was joking. It took Jason twenty

minutes to convince her that he was

A. earnest

B. real

. Some cells,such as epithelia,

C. genuine

the body is asleep than when is awake.

A. cluster

B. proliferate

C. adapt

D. serious

more rapidly when

D. heal

. 11 is a very happy time for all when the bus returns to the

village with its

certificates they have been given.

A. group

B. carriage

C. load

. The Underground Railroad was

of children proudly showing the

D. pack

network of safe

houses organized to help slaves escape from bondage be-

fore the Civil War.

A. an elaborate  B. an illegal

have the right sort of

work,

A. nature

B. personality

C. a secret

0

D. an isolated

You may even become a head waiter eventually, if you

and are not afraid of hard

C. temper

D. character

. A mammal with an armorlike hide, the armadillo survives

A. gently

on a diet of insects.

B. hungrily

C. openly

D. chiefly

. The city postman has to go on foot, not only along streets

but also up and down stairs, as many __of flats

have no lifts and no downstairs letter boxes.

A. flights

B. rows

C. blocks

D. storeys
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